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NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is
correct, fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or
more bubbles will result in zero marks in that question. lé — )Y

1-AJir

if Ais non empty set ANA'=? ANA =?7nzerde A S

ANQ (D) A’ (C) ® (8) A (A)
If y=3x thenfor x=2 py = ? y=2? Jr x=2 /;/y=3xfl
2 (D) -3 (O) 6 (B) 0 (A)

o b i =t S E(x;—X)=0
Arithmetic mean bl Jl> (A)
Harmonic mean ksl v (C)

L(x; — X) =0 is one of the properties of
Geometric mean A}/ (B)

Mode »bk (D)

" .3 % B

The simplest formof - : c is - ST 3°3
17 : 15 (D) 9:10 (C) 10:9 (B) 15:17 (A)

What is value of x if x:3 :: 60:15 x:3::60:15 ﬁé(ﬂ"d;{x
13 (D) 14 (C) 15 (B) 12 (A)

| te WS P 4k 150,000 B\ P S S S < s Bus
Ushr on a wheat crop produced on Natural resources amounting Rs 1,50,000 is ?
&5, 20,000 (D) 4-4s15000 (C) Y 5000 (B)  4-»,10,000 (A)
In an inherited property the share of widow is (- J,'vi.r' S o0s) o K ogs L AL Fls LI
LG YO
et iy at gk Lig LA
SP s jed(B)  CP xf=d (A)
_q_th;lfﬂf.Jﬁ?zw?Janu@
A machine instalied by the Bank to dispose cash to customer is called
Card reader J4s 38 (D) ATM (I J <t (C) Scanner}g (B) Computer }4_-{ (A)
) TN PR S15% 9 1 & 6,00000 T W e 28 L1 1
If the annual value of a flate is Rs 6,00,000 then the tax payable at a rateof 15 % is ?
4-2 91,000 (D) &2 19000 (C) 4419000 (B)
vz =1

1
2 (D)
The price at which a particular item is purchased is
profit & (D) M P e ibtss(C)

£-290,000 (A)
v= V2

2% 1@ 2@ 20

L 243 EL e S e LiV2Z V3
Irrational number wu""tﬁf (A)
integer number J# 5‘ {C)

24 (p)

\/HT?; is not radical , because 2 + V3 is
Rational number +.4 Jhl: (B)
Exponent 1 =7 (D)

InaG.P a,= . - u‘.',u'd/’uf
ar™! (D) ar" () ar (B) ar" (A)

ag of 3,7,11, —---rmmmmmmmn is =7 2 3,711, smme—r
20 (D) 23 (C) 18 (B) 3 (A)

AU(BUC) = (AUB)UC
Commutative law Jip» == (A)

AU(BUC) = (AUB)UC

[

Associative law (il =6 (B)
Intersection of sets & ¥usr (D)

De —morgan law U uCL us (C)J
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Q.No.2 Write short answers to any Six of the following  2x6 = 12 _é{;.{‘/’ _,glifﬁ‘f_,l?f{ ,_-_,6[ 2//0.)"’

E Define Direct proportion. 2 e | (D)
A sSSP Lardad S T un WY 45% < & B 2 JF O A i)
If 45 % of the students in a school are girls. What is the percentage of the boys ?
kg , 5kg 2+ el P O o s Gn s & ()

Find the ratio of first quantity to the second in its lowest form 20kg , 5kg
2 P 44 103,50,000 B J"erf.} i < Qs S5 | (iv)

Calculate Ushr on 2 wheat crop amounting to Rs 3,50,000 produced by artificlal resources.
Calculate Zakat on Gold amounting to Rs 11,10,000 ..‘ér:‘*‘ Wqutin 4-,11,10,000 A S N (V)
~Z§r;‘” chd @ Loy L(Lﬂ 7ol il S Ey 15,00,000 it g LI é & L. Lf, L S (vi)

if a deceased left a property of worth Rs 15,00,000,work out the property, if he left behind a widow ?
Define Loss. Ay & ots | (i)
Find the CP ,when SP = Rs 672, Profit =5 % b)) ed= 672 o D=5% 6 2L et 47 24 | (viii)
LB bn =728 d |, LA=6% & 2K i 28 2T | (iX)

CFind the selling price ,when MP = Rs 728, Discount =6 %

el No. 3 Write short answers to any Six of the following! 2x6 =12 2’:’.’/_‘)’ ..-.[.Le;’ Lz Z ;,Jf 3 /,jdl/

; Differcntiate bvtween current account and saving account. _Zgljb 0/ & vl Lt ol w2/ (i)
A fan price Is Rs 34800 , Find 16 % sales tax on it. i(}’ Ja K 16% U 4 £-3,34800 = .7 Ll (i)
Define Direct tax. »2?.':’»«‘,1/‘7 Ju‘g Aty | (iii)
Simplify V27a% V273’ é;" (iv)
Solve 5,1'% X Zxé Sx% X 2'x§ .éd' (v)
flog ¥ = 4.4236 then find value of x .:“{(:L" c/:"(f x 7 #log x= 4.4236 N {vi}
Write first two terms ap=n+3 -ax=n+3 _é rh » &/ (vii)
Find A.M between X +x+1and ey ] (;*‘” s O e L .-‘ bl uf 50 gt 1! (viii)
Fmd G.M between -8 and -2 -2;5(:"’ s L -8 -2 | ix)

1. No. 4 Write short answers to any Six of the following 2x6 = 12 ‘{://" ».,«Ui/ﬂé'l,‘?l{ c—Jf 4 /Jlr
Define set and give example. 25 o st é»ﬂ/’ g (i)

‘ e 2 AT I A:{3,4,5}ulU-(l,Z,3,4,5}f (ii)

| fu={1,2,3,4,5) andA={3,4,5)thenfind A°

Z e ANB s AUB I B={7,8,9,10} 4 A={1,2,3,4}.0 | (iii)

Ha={1,2,3,4}and B={7,8,9,10} find AUD and ANB
Draw point Al-3, 7 Yon graph, -»éﬁw 4 S SA (-3,7) .55 (i)/)
Define conversion graph. _2‘,{4}7 J..Jlfd’_]’ (v)
L/ Jur | )

Define Cartesian plane.

XSS | (i)
S e ¥5,4,5,8,3,8,2,6 er Lo | (Viil) |
_érr"'hﬂ ErA¥8ua,2 (ix) é

Define frequency.

Findmodeof 5,4,5,4,3,4,2,6

Fxnd harmomc mean th 2,4 and 8

(‘i_.‘{-}/i)
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¥ a .
NOTE : Attempt THREE questions from this pant §x3 - Sl .:..Jf.:_.u:m‘dl T g
5 - s P i s - ” § ! s .
rd o~ + - ' | i
S AEY T ! ’\'s‘ﬁ:‘ 770 .2 o 282 Je en 18w P 63 L6141 (A)S: ﬁ)b"” !

1 14 Cows consume 63 Kg of hay in 18 days. How many cow will eat 770 Kg of hay In 28

days at some rate ?

PR TNy < NIRRT i JEVE G RS B JEPO io 4~ 67,200 & Sl L)L (B)

Three members of a firm distribute the profit Rs 67,200 among themselves in the ratio

2:13:7 Whatisthe N gost share of thg profit ? ; i
e 0 930 ST T S b B 0 P 30,000 aig U7 Swdiisi (A)6: AUr
1f the wheat crop is produced 40,000 Rg Natural resources calculate the amount of Ushr if | /"
the price of wheat is Rs 950 per 40 Kg ?

bt u 3

%
g s S S i 2 atp o a%z-’;»,so,oooi (B) L

¢ Find out the compound Profit of Rs 50,000 at 4% for 1— year.

\.‘

..,.»SQOL,"HDKL 4&..1)150’0
F(I‘!fi‘i -\sdf\ JJ V']?ﬂ

Caleulate the gross monthly pay of a person if his basic pay is Rs 18000, house rent .

R «..4;3500 u’mcsx- oI ....1118000 F o d S £ ; (A) 7 /J:r
H

slowance is Rs 3500, dearness allowances is Rs 3000 . Conveyance allowance is Rs 1300
and Medical allowance is Rs 500 ?

238 % 3.901 o z
e L2 L
T <SS e § e LA | (8)
239 3901 .
' Solve with the help of Kogamhm fable, — T R
SO

s._.‘-mﬂaf FF O By o ,ufw A)-S.ﬁ)dlr

Whichtermof ARAP 6,2,-2,

‘¥ A={23,5,7,9},8={1,3,5,7} and €={2,3,4,5,6) then
verify that (ANB)NC = AN(BNC)

(ANBJNC=AN(BNC) -2 =7 % €={2,3,4,5,6}48={1,3,3, 7},A={2,3,5,7, 9)/1(8) |
!
i
i

P

pmived wh S ae B tw (A)-9 :ﬂdir

. Draw a graph for the given equation v =Jv-J |

_2E ool sl g8 ¥ 3,5,6,8,8,9,10 (B)

F"ndthe medsan and mode for the data of 3 S 6, 8 8 9 10
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GENERAL MATHEMATICS | PAPER CODE:: 5264 &L
GROUP : SECOND o™ CLASS 1% Annual 2024 ¢ | Ir» 1@s
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TOTAL MARKS : 15  [=l=zA | OBJECTIVE PART (&3 15: /qf

32 b £ dzernae Lo Lzl iz sy ¥oz-w&L & sDslA,B,C =iz Kl Lsz s el
Kot 1 ...«li.’u;(l ey Jd_/;: Sak Ll /,fu:?b e LB A f L SAS oo |
NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is
correct, fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or
more bubbles will result in zero marks in that question. {0 O =5 —5 &
L 1-AJlr

~

If SP < CP then the loss percentage can be found Y. éf(}" ol Fesjedcpiad | 1
c.pL::Soo ujux 100 (8) Lossc: 100 uki ::00 (A)
Loss;; 100 g :}x ;;o o s.PLzstoo | e,s,):i’ X 100 ©
The person or intity whose insurance is being done is called -t 2‘,4:.».1 n Gtg Jﬁuﬁ’l A P-4 u"” »| .2
Lessee (7 (D) Drawer A4 (C) -Insured 51 (B) Insurer &1 (A)
Tax of the form of duties , motor vehicle tax are called _ ‘ - %‘:fﬂ s Je Jﬁ:}r:x"ﬂ 3
Income tax u‘g'fl (D) Property tax ugﬂ..«_ﬂ(;‘"(C) Direct tax u'g.yfﬁl* (B) Indirect tax Jg.b-l)g (A) '
In4°,4,is called . : : ‘ _u,tz:fllu.‘.' a° »-4'
_ . Radical i (D) Integer s & e Base % (B). Exponent U=s (A)
Inv3 , 3is called \ _ “-u!é,’fi,3 uf\/§ -5
Natural number s (.9 (D) Integer s 5 (C) - Radicand »¥ (B) Radic_al e (A)
Fourthtgrm of a,= (—25—1_-1—); is ' ‘ -q.fuf};ur a“=fz'i—1—)7 -6
- -~ (D) ;O S o
A.M between v3 and 3v/3 is ‘ \ S i b g% U2 3V3 V3| 7
9v3 (D) 5vV3° (C) 2V3 (8) 43 (A)
(AUB) =? : | _ f= (AUB) | 8
‘ o (D) (ANB) (C) A°UB® (B) AN BS (A)]
If R={(4.5),(54)(5,6),(6,4)} domain R=7 ~ ~ cbR=? Fx R={(45),(54),(56)(6,4)} AR
, ) {5,6} (D) {4,5,6} (C) {4,5} (B) {46} (A)
Co-ordinate of origin are l Ln whe Loy | 10
‘ (0,0) (D) (1,0) (€) ©  (0,2)-(B)  (1,1)(A)
The middle values of data arranged in numerical orders is called -4 GU{.&E L1y J'; Sl P u‘f -11
Geometric mean b}/ (D) Mean A,si (C) Median ks (B) Mode wlb (A)
Fraction % by changing in percentage we get -4 b Jb = LS L w 29—0 / 12
, 45 % (D) 30% (C) . 40% (B) 35% (A)
Fraction form of 15 % is | e Ly 5% | 13
- = (D) Do e Tow@
If there is only one daughter the share in inheritance is ? St o P I (& Ok S A4
- to j@ e
The ratio of son and daughter’s share in inherited propertyis -4 dned Lurrd & = 15
N L. 3:2 (D) 2:3 () 221(8) 1:2(A)] |

y A § R y— e B o oo o Nl EETR IS ~ INnADED NNRE . 2640
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Q. No.2 Write shortanswers to any Six of the following 2x6 -z-:.(f :A..LP./:?L'IZIA{ c..af 2 /:".'dly‘

Express percentage as fraction in lowest form 8% éf:(‘fls &P T J/:(MO
Express ratio in its simplest form Bt - Lot S | i)

3°5
-Z—:r’,h’ = i L Son d P 72 u.‘:' L 47518 A | ({iii)
Find the ratio of 8 rupees each to 72 rupees per dozen. ’
L& (¥ I 4 4 4,90,000 B P S TS e 8= S| (iv)
Calculate Ushr on rice crop amounting Rs 4,90,000 produced by artificial resources.
Differentiate between Zakat and inheritance. , .z 5!; RN B 35 (V)
Calculate Zakat on Gold amounting to Rs 5,00,000. ..21’.-:(:"’ 30 41 in &3 5,00,000 b Jerl (vi)
Find the SP ,when CP = Rs 1540 , Loss =5 % 4Fed=1540 Lo, AF=5% 5 b 28y) =4 | (vii)
oirped =2400 Lo , wA=8% £ ZE o2 1t | (Vi)
Find the Marked price ,when SP = Rs 2400, Discount =4 %

Define profit and write its formula. B B -ﬂ U KU sl é ) /7 J 3’ L(_ix)
Q. No.3 Write short answers to any Six of the following 2x6 -z{';/j .:«g.li./‘? Lzl £ ;.Jf 3 /:ZJI/
r 2912397 o 0L U/ o féd;‘;uguéw’gfm;so‘ W
Convert 50 Pounds to Pakistani Rupees when the currency rateis 1 Pound = 397 Pak.Rupees
Define Property tax. -é oy Ju’g é/.,’/, (ii)
L 0 ST Fsress 18000 =2 T 4 ok fi g vl 1o Ak 16% 4o d | (i)
A sales tax of 16 % is imposed on television. If the marked price of the television is Rs 18,000 7?
Calculate the sales tax payable.
Simplify and give answer in exponent form V27a° V27a° {‘j Y- J" J Viad A s 2{/’5’ (iv)
simplify and express with positive indices. (g%f—:;) & (Zfz) 3 S AV IR JOR T z & (v)
Define mixed radical and give an example. ) J& st éu_df J;Jg u"l;t (vi)
Write first two terms a; = 31; A= ;1; _:;,‘f (L 2 J{‘ {vii)
Find A.M between x —1andx+7 SZE b BT s £ ox+7 o x —1 | (viii)

Define sequence with the help of an example. Ay S I £ w24 §Je | (ix)

Q. No. 4 Write shortanswers to any six of the following 2x6 _2’;4]’ .-,yz/"’ Lzl £ a.éf 4 /.jdlr
(i)

What is difference between Intersection of sets and union of sets ? fe 0PV L O ¥ U
g A Jn A={3,5,7} 4 u={1,2,3,4,5,6,7} /1| (i)
If U={1,2,3,4,5,6,7} andA={3,5,7}thenfindA°?

el 9§ am §8 U8 CxC Io . C={1,2} /| (iii)
If c={1,2},thenwrite the number of binary relations inCxC- »
Define Cartesian plane. sk P J e ot ()
Represent the point A (4, 4) on graph paper. -’é,,-lb' - aS S Ala,a) | (v)
Convert 127°F into °C Y IV e F127°F | (vi)
Write down two properties of Arithmetic mean -é /;j' .-.,L_-f‘ 2 bl de | (vii)
Find the range of the data 6,8,10,14,13,12 -z-‘:()":/ﬂf awrd & | (viii)

Find harmonic mean of 3,4 and 8 JZE bt Sy A ¥ 84,3 (ix)
e 0

(22 Jn)
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NOTE : Attempt THREE questions from this part 8x3 -éj@ﬂlf&@.&fbd}dl : oy

, o f S L F v S 770 U o 28 U QWL e 18 U 1S 63 26 14
if 14 Cows consume 63 Kg of hay in 1.8 days. How many cow will eat 770 Kg of hay in 28

days at same rate ?

En oo 1% o B PoarS e §2:3:72 50 ST 467,200 2 W1 E L) Al
Three members of a firm distribute the profit Rs 67,200 among themselves in the ratio
2 :3:7 What is the biggest share of the profit ?

(A)-5 : AJiy

(B)

-e ru")’ 40 § & 950 =f Sl pdt r)”fj ¥ In rvff 40,000 stig Nl il e s dus
If the wheat crop is produced 40,000 Kg Natural resources calculate the amount of Ushr if
the price of wheat is Rs 950 per 40 Kg ? '

g A % e Up s 4% 4 4-93'50,000

1
Find out the compound Profit of Rs 50,000 at 4% for 15 year.

(A)-6: ﬁfdlr

(B)

500 0 i ot 4211500 501U « 4013500 S ) 40418000 W7 o S
s o7 A 8E § S 0 In

Calculate the gross monthly pay of a person if his basic pay is Rs 18000, house rent
allowance is Rs 3500, dearness allowances is Rs 3000 , Conveyance allowance is Rs 1500

and Medical allowance is Rs 500 ?

20NN o f s f e £

2.38 x3.901

Solve with the help of logarithm table. =

(A)-7: AUir

(B)

Which term of AnA.P 6,2 ,-2, -----mmms is -146 ?

(ANBJNC=AN(BNC) -Z& et x C={2,3,4,5,6}J:IB={1,3,5,7},A={2,3,5,7,9}f!
 A={2,3,5,7,9},B={1,3,5,7) and C={2,3,4,5,6} then
verify that {ANB)NC = AN(BNC)

(A)-8: Air

(8)

y=2x-3 &k IS el St
| Draw a graph for the given equation y = 2x-3

s

- ¢ e sl s K41 3,5,6,8,8,9,10
Find the median and mode for the data of 3,5,6,8,8,9,10

(A)-9: A Jir

(B)
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